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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 37 =afdd & Taw HifT S QT T FEg A I B
Find the person who does not belongs to the group

Ans m
F !

Question ID : 9864495159
Status : Not Answered
Chosen Option : --

BT

Pentala Harikrishna

v

| Tregeree e

Vishwanadhan Anand

X&EH‘I?RW

&y

Koneru Hampi

X 4 :

agdrol

Saima Nehwal

& T AT & 3T & 9 FA g
J-11, L-13,

N-15, P-17, 7, ?

Question ID : 9864495166
Status : Answered
Chosen Option : 3

Find the next two terms in the series
J-11,L-13, N-15,P-17.2.?

ans o/ +.0-15,R-16
X2C-3, H-8

X 3 R-19,
X+ R-18,

T-21
V-22

Q3 st #1 it W1 HAE F9Y & & Hod ¥ @ T a1 TR e &2
Which group of animals are exclusively free living marine animals?

Ans HroTET

F !

Question ID : 9864493575
Status : Not Answered
Chosen Option : --

Mollusca

2

ThRIASTHET

Echinodermata
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Q.4

Ans

0.196 + 1.96 + 19.6 + 196 =?
0.196 + 1.96 + 19.6 + 196 =?
X 1.216.756
X 2.217.676
X 3.216.856
W' 4217756

Question ID : 9864492800
Status : Answered
Chosen Option : 4

e 3T eREA F g e seEr Fsnr S e 3 aEs @ s wan
41 3T 31 &, 3 122 % g A TRl Ream smar 31 aifoer for 7
a3 eREa F e = E?

Two water-squash mixtures, the first having a water-to-squash ratio of 4 : 1 and the other
having a ratio of 3 : 1, are blended in the ratio 1 : 2. What is the water : squash ratio in the
blend?

Question ID : 9864492725
Status : Answered
Chosen Option : 4

Ans  X1.4:3
X 2.19:11
X 3.17:13
W23:7
Q.6

Ans

frfofea # ¥ #i9 &1 Feauda #T Fhar 82
Which of the following can undergo sublimation?

v IFARTH Fess

Ammonium chloride
) 3AfATH gewEs
Ammonium sulphide
X3 3AFTA Fone

Ammonium chlorate

. IAATH dothe

Ammonium sulphate

x

x

Question ID : 9864493507
Status : Answered
Chosen Option :1

Ans

o T 99 7 3ca¥ & & o FiF ¥ Fya gaeg 272

T 71T @ & FUR | A F Ag A Hee?

heT:

I: A FT 3 3T T H A T 10 9 3 7

I: g 1 3y & & 24 a9 o

‘Which of the following statement is sufficient to answer the question?

Find the age of the mother from the given statements.
Statements :

I: Mother’s age is 10 years more than her son

II: Sons age is 24 years more than daughter

2
Faa || gaeg § S | 33ar gacg F87 B

Only II is sufficient while I is not

Question ID : 9864495169
Status : Answered
Chosen Option : 2
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X2

Neither I nor IT is sufficient
x| 3kt 11 @t goeT

Both I and II are sufficient
X 4
ot | gaTeT & Safes || 37k gaea Far gl

Only I is sufficient while IT is not

Q.8

FT ¥ FUT AT 99T FT 3ca? e & forw waieg &2

HIET FAe § FE TR wafte 72

e

|: &ATE=T @ A T=AH g

Il: T=H F 95 T g

Which of the following statement is sufficient to answer the question?
How is Bhavana related to Sathish

Statements:

I: Bhavana’s mother is Rajyam
II: Rajyam’s son is Satish

o | AR 2t T

Both I and IT are sufficient
X2
¥ || guTeg T T 3T | gaag J8 2

Only II is sufficient while I is not

X3
Fae | AT § FafF 3Fer || gaeT F8 B

Only I is sufficient while IT is not

(4_;ra’r|3ﬂtsr€rllq1ﬁ¢r%|

Neither I nor IT is sufficient

Question ID : 9864495181
Status : Answered
Chosen Option : 1

Q.9

Ans

A 31X B U &1 1 HEE: 10 T 15 &l 8 &l el 1 B 13 Y13 4T & 31 S
& 91 A ot 51T 37 3 e €1 TR IR 60 FATS &, A IeerT cATeraaTe fewea fopaatm
&

A and B can complete a piece of work in 10 days and 15 days respectively. B starts the
work and is joined by A after Sdays. If they earn a total of T 60, what are their individual
shares?

X 1.T20,% 40
X 2.T25,T35
&< 3.730,T30
W4 T24 336

Question ID : 9864492589
Status : Answered
Chosen Option : 4

Q.10

Ans

& IS AW H I HEAT AT BE?
0,1, 4, 27, 16, 125, 36,7
What will be next number in the series?
0,1,4.27, 16, 125, 36.?

X172

< 2144

V325

Question ID : 9864495179
Status : Answered
Chosen Option : 4
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< 4343
QAN T=eag & g 3TEE, T RIGES
PN ﬁﬁﬁ;?;r%?m , T for 3k % Question ID : 9864493332
Which of the following is used in the preparation of tincture iodine, cough syrup and SIS AL T
many tonics? Chosen Option : 3
Ans
X1 ofafes vfas
Acetic acid
X2 HAeATe
Methanol
" £ ;
Ethanol
r 8 2 ‘ :
Ethanoic acid
12 .
Q124 2 2 6, 3 3T 8 gEaTHt Fr AT Bger &7 Question ID : 9864492979
The median of the numbers 4, 2, 2, 6, 3 and 8 is: FetugPragwered
Chosen Option :2
Ans x 1. 4
v235
<345
K43
13 4
@ =T Fr gol Cog Question ID : 9864492539
23 — [23 _ [23 _ (23 — 23+ 23]}] Status : Answered
Chosen Option : 4
Solve the following:
23 — [23 — {23 — (23- 23 +23)]]
Ans x 1. -1
X 21
<323
V0
Q.14 ¢ o _ : o __ _
sin 6 cos(90° — ) + cos 6 sin(90° — 6) =2 Question ID : 9864492456
sin 8 cos(90° — @) + cos 8 sin(90° — 8) = 9 Status : Answered
Chosen Option : 4
Ans x 1.2
X 20
P A |
v
Q15 =¥z ¥ == & BTy Wq@ﬁmﬁ Hag ¥
s ¥ 5 # E & AT AT %? Question ID : 9864493213
According to Newlands® Law of Octaves, how many elements exist in nature? Status : Not Answered
Ans X 1. 65 Chosen Option : -
X 266
V'3 56
K 455
Q.16
Question ID : 9864492668




T o Bl s # wig &7 3T 15% %MM g%@??jalert In Status : Answered

o qew T &7 Chosen Option : 2

After buying a toy for ¥45, Raghu managed to sell it at a profit of 15%. The selling price
of the toy was:

Ans 1. 60
2 5175
X< 3. %50.75
K 4. 351.25

Q17 H7 F Fua e T 1 3R & & v goieg 2
X F AT AT HIAT?

Question ID : 9864495182
Status : Answered
hA: Chosen Option : 1

|; =iTcHe HARTT TH &AL & @7 &7 49T 52 §

Il §&IT & AT 2 &

‘Which of the following statement is sufficient to answer the question?
Find the value of x.

Statements:

I: Sum of squares of positive consecutive even numbers is 52
II: Difference of the number is 2

Ans (1_
FTeT | U § Fafa 3T || gucT F8r 2

Only I is sufficient while II is not

X2
Faa || gaeg § S 33ar | gacg F8 2

Only II is sufficient while I is not
x3_;ra’rlaﬂtsr€rll T 2
Neither I nor IT is sufficient

x4 | TN e E

Both I and IT are sufficient

Q.18 5.0 RrellmA &1 Us aFg & 2.0 Ael H 415 J 307 AT § | 36 ufeham
#H hce S &m:

(A & g=9.8 AU TN &5H3)
An object of 5.0 kg is raised through a height of 2.0 m. The work done in the process is:

Question ID : 9864493161
Status : Answered
Chosen Option : 2

(Take g=9.8m/s?)

Ans 10 el
Ko &
107J

98 Slel
o,

987
19.6 T

19617
49 6T

491]

v 2

K3

K4

Q.19 gor Fir gfesmr = FEs 3maR W saEmET BT 3 g@ear 87

Definition of Force can be stated from:

Question ID : 9864493600
Status : Answered

Ans - F‘EE;I- FT ;-l-ﬁ_'l- &7 JET ICEIP] Chosen Option : 4
1.

Newton’s third law of motion



X

Newton’s second law of motion
TR TocarHyoT H e
| Newton’s law of gravitation
gl FT AT FT Igo FAH
Newton’s first law of motion

v

X4

- Hﬁﬂ{a\%v%govtjobsalert.m

Q.20 59 WIfzTe FARNEE F AT (FAG) O & &g F Soelr qRG 1 AT
ar = & & e w9 7 fgufeq & o &

‘When electricity is passed through an aqueous solution of Sodium Chloride (brine), it
decomposes to form:

Ans X 1 NaOH + H, + N,
X 2 NaOH + HCI + H,
X 3 NaOH + H, + 0,
« ¢+ NaOH + H, + CI,

Question ID : 9864493510
Status : Answered
Chosen Option : 4

Q.21 ser 7w B F7 I WAt § ¥ FiF o S S g FEen
Hftedr (ehsam) &2

India-born Indira Nooyi is the Chief Executive Officer (CEO) of which of the following
companies?

Ans x1@3ﬁﬂ-

Amazon
gt
' PepsiCo
x 3 HAIZHIHETFE
Microsoft
SHIeAT el

Coca Cola

>

< 4

Question ID : 9864492164
Status : Answered
Chosen Option : 1

Q.22 =i 3 318w, 2005; 6 39T, 2010 3T 5 fg@aT, 2013 F TfE BHAF-AG-a¥ 76T F

forr Sirar &, o 39 ven feraa aifoich fadver S o Hendr & FrAtetaa A g
i ¥ 9§ & M T faad A off a8 FRwar

The dates 3 April, 2005; 62 August, 2010 and 5% December, 2013 when written in Date-

Question ID : 9864492614
Status : Not Answered
Chosen Option : --

Month-Year Form have a unique mathematical property. The Indian Independence Day of
which year among the following has the same property?

Ans X 1.2018
v 2.2017
X 3.2015
X 4. 2016

A2 P & ¥ Sl T A=A 39T BT s TehaT 27
‘Which of the following animals can change its sex?

e T (Snail)

Question ID : 9864493357
Status : Not Answered
Chosen Option : --

v
Snail
, oier (Nereis)

Nereis

x




\WWW
AT (Planarian)
Planarian

x4.m$ﬁ1tr

Ascaris

X3
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0% Prafaf@a § ¥ Fi9 o Fu9 57 27

egfey &7 9T BT &
Which of the following statements is true?

The velocity of sound is:
Ans x1_2q€f3-ﬂ'{i‘lﬁﬁﬁ'ﬁm
same in winter and summer

2_mﬂqrﬁ'raﬁrﬂﬁ%

independent of seasons
v wfeat & gerem 7 AfHdr 7 e
more in summer than in winter

4ﬂﬁ.ﬁﬁ§mﬁﬂﬁﬁﬁm

less in summer than in winter

x

x

Question ID : 9864493264
Status : Answered
Chosen Option :2

Q.25 T, Werar st gfiar & adaw g =1 sgTa 4: 7 1 9 §1 35 9§ uge,
3R AT & ATT 56 oT| T oA A (TT H) AT Hriew

The present ages of Kavitha, Rajitha and Haritha are in the ratio of
4: 7 : 9. Eight years ago, the sum of their ages was 56. Find their present ages (in years).

Ans X112, 21, 27
< 2.20, 35, 45
< 3.16, 36, 28
V416, 28, 36

Question ID : 9864492613
Status : Answered
Chosen Option : 4

Q.26 2016 & Tt 3efoE # Fi9 § AR =feq Fod & =7 ok e om?
‘Which Indian badminton player won the silver medal in the 2016 Rio Olympics?

Ans ﬁ?rq'uﬁ'
XKo@ X
Rituparna Das

x 2 mfaar =T
Sania Mirza

X 3. ISl sigarel

Saina Nehwal
. Ry

PV Sindhu

v

Question ID : 9864492160
Status : Answered
Chosen Option : 4

Q.27

Question ID : 9864495175
Status : Answered
Chosen Option : 4
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AT TN S AT 3N B HFART &A1 @ HT AT AFC?

TF 1: &, AT SeENT TROT FeuoT YT FT

T 2: T, AT eI IR A GuR o1 § AR &1 F i Bew A A
TETEH B

Read the question and answer from the given information:

Should the govt stop giving permission to new industries

Argument 1: Yes, new industries create environmental pollution

Argument 2: No, New industries improves employment and takes part in economic growth
of country

Ans x1m | HﬁT %'|
I only is correct
NI e R I
Neither I nor II is correct
o A A AR A Il E
Either I or IT 1is correct

«4_a‘h—cﬁr Il Ter gl

II only is correct

x

4% ot 1 TR o AT B
The universal natural auxin of plants is:
Ans NAA

r 8
NAA

W2
IAA

K3 ST ;
citric auxin

. IBA

X 4
IBA

Question ID : 9864493116
Status : Not Answered
Chosen Option : --

Q.29 =fy v 37 a,ax, ax?, ax™ , F 9g¥ Fr T faww &, ar sEhr ATegw AT
HrfaT)

A sequence a,ax,ax?, ax™ has odd number of terms. Then the median is

Ans I
?( 1. —+1
axz

X 2 gxn1
3 n
53 ), M

i
v axz

Question ID : 9864492617
Status : Answered
Chosen Option : 4

Q.30 T Fret #f 9% AR & T AEN F AR A w7 F 7 Fees A
g |
U
ag Thel el gl
[Cica)
1. Thet ofter &1 9417 B
2. Thel ToliEcs & &= 81

Read the statements and identify the logically correct conclusion from the given
information.
Statement:
This scale is transparent
Conclusion
1. The scale is made up of glass
2. The scale is made up of plastic

Question ID : 9864495174
Status : Answered
Chosen Option : 4
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faswy (1) 3R (2) il 3FEROT A &

Both I and II follows

leaﬁ?»r Il 30T T &
Only II follow

o hael | 3JEOT LT T

.OIﬂyIfollow
W 4
a1 AR T & 1 ET AT B

Neither I nor II follow

O 22 i e w9 §-

182
120

Ans x " 28

20

2!

5

x3 91

65

x414

10

when written in the simplest form 1s:

Question ID : 9864492921
Status : Answered
Chosen Option : 2

Q.32 fr v & N o row Seee ¥ F v & w9 # 9w # e
F T Joe 1 Tue G g2

‘Which author employed India’s obsession for cricket as the theme for his recent book
‘Selection Day>?

w3t B

Anil Menon
X2 IEEZa I
Vikram Seth
3fFrer Fardr
K 3.
Amish Tripathi
) aRfae fEem

Vo
Aravind Adiga

Question ID : 9864492241
Status : Not Answered
Chosen Option : --

Q.33 3 73 WoF F 3ooW &7 & T A & ¥ Fi7 ¥ F2e o g
o 1T FuEt @ X, vy, z F A A HTSC?
HA:
Lx+y=12; x+z=4
I: x-y=86
‘Which of the following statement is sufficient to answer the question?

Find the values of %, y, z from the given statements.
Statements:

Ix+y=12;x+tz=4

I x-y=6

Ans (1_

Question ID : 9864495168
Status : Answered
Chosen Option :2




Fao | gaeg § FatF M’V ov;['@%salert.ln

Only I is sufficient while IT is not

x2_|34‘|r||za?ﬁq-a‘r¢r§|

Both I and II are sufficient
X3
oot || e § FaTF | 356ar gaea 740 2

Only II is sufficient while I is not

x4_;ra’r|3ﬂtsr€rllq1ﬁ¢r%|

Neither I nor IT is sufficient

Q.34 o1 & & Fi9 & orge 33 960 F w ofwar & AR w2
‘Which of the following metals reacts vigorously with cold water?

Ans x1;|'\l;|T

Zinc

. TegHfEaH
Ko 2
Aluminium
X3 airer
Iron

orefErTa

Potassium

v 2

Question ID :9864493351
Status : Not Answered
Chosen Option : --

Q.35 "dieT T H AU qoT 5 FrelanH T - v A
YEUNTT 1: “FfE 319 6 AT F AT o § A 9w I 10 frelad aF F:A
& ey
YEUNUN 2: “HOe IoT qGTeT arel FRHA el §1°

“Gain your weight by 5 kgs in 3 sessions™- an advertisement
Assumptionl: “ if you join in 6 sessions your Weight will be lost by 10 kgs .
Assumption 2. “the company is dealing with weight gain programs™

Ans w_:ra‘rlamsr#rnai?lﬁi%?r%l

Neither I nor I is implicit

xz_ma’rlmllair-lﬁ‘i%?rgl

Either I or IT 1s implicit
_ Aol | JFfted &l

I only is implicit
, Aol || Fafafa &

II only 1s implicit

x

x

Question ID : 9864495176
Status : Answered
Chosen Option : 3

Q.36 fadr fafarse #mr &, TREE & % USFF &1 3§ #19T # MANGO &7 %T FaT
grm?

If in a certain language, TREE is coded as USFF, how is MANGO coded in that langnage?

ans X 1. NBOHP
X 2 BHONC
v > OPHNB
X + NOPHB

Question ID : 9864495160
Status : Answered
Chosen Option : 1

Q.37

Question ID : 9864495178
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a ?]é' m ol HAAT qa' =T _ Status : Answered

Chosen Option : 1
3G, 6H, 114, 18M, ?
Find the next terms in the series
3G.6H. 11J. 18M., ?
Ans X 1. 27Q
< 220U
v 3 18P
X427V

Q.38 geaA m ATl e g AT v @I FAmEig @ § st swE e

Question ID : 9864493446
FAT K E | AE FHHT AT AT BT AT AT, A FHHT A FA hiedl gF uestion
; Status : Answered

An object having a mass ‘m’ moving with a velocity ‘v’ possesses a kinetic energy ‘K’. If Chosen Option : 2
its velocity is doubled, its kinetic energy will become:

Ans ?(1-Kf2
Vw2 4K
<3 KM
X 42K

Q.39 T F 39d ¥ Fel, “WAr A U= Sy Fr 98 F THAT A H R
= = By vemEr ar?

Raman told Ananth “Day before yesterday I taught the only brother of the daughter of my Status : Answered
paternal grandmother”. Whom did Raman teach? Chosen Option : 4

Question ID : 9864495172

Ans

EEl
" SR

Son

x o
Brother

HHL
X =

Father in law

LG

X4
Father

e 24, 60 3R 90 &1 AT iaiEIEII %}: Question ID : 9864492882
The HCF of 24’ 60 and 90 is: Status : Answered

Chosen Option : 3
Ans x 1.3

X212
Vo6
X4 4

Q4T AP Q% & T & 19 & AP, QH Ty bt o &2 Question ID : 9864495161
If P is the brother of the son of Qs Son, how is P related to Q? StncHAnswered

Ans m Chosen Option : 3

v &)

Cousin

XZﬂTg

Brother



?‘33%

| Grand Son
EE]
P

Son

www.govtjobsalert.in

Mo # a g = 12 ¥ e 2
Which of the following numbers is divisible by 12?
Ans < 1.33412
< 2 63412
V'3 53412
443412

Question ID
Status
Chosen Option

19864492644
:Answered
13

Q.43 afger & 20% % giier 9 R @ @ T 280 A T TG F FY Hpd FAT A7
Sahil sold an item for T 280 at a loss of 20%. The cost price of the item was:

Ans 1. F 1,400
< 2. T340
3% 336
W 4 T 350

Question ID
Status
Chosen Option

19864492708
: Answered
14

Q.44 9rer Y et & Rew wtEh wifa & a5 T o S 9 39 A8 W
T F E S 9E B ¥ R S 3 3oy g% O Yoy 7 o e ofr 5w
gt # Tewa

Paul Revere was a patriot in the American Revolution against the British. Name the city
where he lived and died. The Paul Revere House is still located in this city.

Ans m
r 0
Chicago
Clp=r)
Boston
Sfeataar
Pennsylvania
FAITET
Florida

v &)

K3

X4

Question ID
Status

Chosen Option :

19864492119
:Not Answered

Q45 ofg + FT T+, c FHT - - T AT %, x W AT+ @, A 10+5+7- 4
x 30 = AT &7 gEm?

If + means <+, + means —, — means <, x means +, then 10+5+7-4 x30=2

Ans X 1.4
X 26
<38
v 410

Question ID
Status
Chosen Option

19864495180
: Answered
1

Q.46 7T o farely avg 1 10% F FHa= & ¥ AR 584 3@ T 575 H &
T o W 20% T A Gl 30% e F fAv awg w B wew 4w e
mfge?

Yaman sold an item at a loss of 10%. If he had sold it for ¥ 57 more, he would have made
a profit of 20%. What should be the selling price of the item to make a profit of 30%95?

Ans  of 1. 247
X 2.F222.30
X3 F 228

Question ID
Status
Chosen Option

19864492728
: Answered
1




< 4 T 190
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Q.47

Ans

fordir ey UUT T HET BIHH FAT FaT 87
‘What is the principal focus of a spherical mirror?

g MAHR FUUT HT ARG ¢l

It is the midpoint of a spherical mirror.

2
TF AW 3 W % fig § omE AU ¥ YA A % FAEET T S
faor wfafdfem 8= & a1 oifte @ & o Hew g W 5w g @ sevat &l
s & &

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection or appear to be arising from this point on the principal axis.

X 3
g T T faig & Seae a¥Ur F wHW T W fomd weerer v ot ar W@
e g &

Tt is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

X4
Tg TF WEA Mol H Fg g [FFHT TMemer 9T vk B #
It is the centre of a hollow sphere of which the spherical mirror is a part.

r 0

Question ID : 9864493423
Status : Answered
Chosen Option : 3

Q.48

Ans

W IANCAF I[& F AF o e 98 g A # e FEer g
AeTE AT, TS FaT o A & i ST & A §g @At
fasar am ¥

Name the spiritual leader who was honoured with a humanitarian award by a prominent
Jewish human rights organisation for promoting human dignity, interfaith relations and
tolerance among people.

AR a1

Morari Bapu
HTERTH &1

r 0

X2
Asharam Bapu

«S_s'i’r 5 T oY
Sri Sri Ravi Shankar
&7 THSHT

Baba Ramdev

r 8

Question ID : 9864494455
Status : Not Answered
Chosen Option : --

Q.49

T St SR & 25 i & A o § s g d s A s R w
T@ AT &1 TfE g = 10 ms~2 &Y, T AIATT 9T 38 SR 3 913 1 S AT 247 g

A man lifts a luggage of 25 kg from the ground and puts it on the head, 2.5 m above the
ground. If the value of g = 10 ms~2, then the value of work done by him on the luggage
is:

Question ID : 9864493061
Status : Answered
Chosen Option :2

Ans  X'1.2207
V26257
X 32257
X 42257
Q.50 2:13 pm. W =T 1 g§ R € F g5 & Sra WHiAT TgA For F A= e

Ans

gram?

What will be the acute angle between the hour-hand and the minute-hand at 2:13 p.m?
< 1180
X 2.16.5°
V31150
X 41350

Question ID : 9864492753
Status : Answered
Chosen Option : 1
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Q51 oy x F T -, - AT +, + FTHT = AT -FT AT x &, A
125 - 50 =10 + 20 x 4 & A &5 & @ F97 e

If x means —, + stands for +, + stands for + and — stands for x, which of the following
gives 125-50 = 10+20 x4 ?

Ans 1360
X 2.6246.5
X 3315
v 4 420

Question ID : 9864495167
Status : Answered
Chosen Option : 2

Q52 357 cafad &1 99 fifew A BT 70 @6qg 7 369
Find the person who does not belongs to the group
Ans
;TR 2T

Rakesh Sharma
el diddll

) Kalpana chawla

. e R

Sunita williams
., 7% R e
Mahendra singh Dhoni

Question ID : 9864495171
Status : Answered
Chosen Option : 4

Q.53 AT Y WONRT & S W OFEE, AT F TS T HUT F A0 9w F
HEE LT 87

‘Which part of the human reproductive system helps the embryo get its nutrition from the
mother’s blood?

Ans
x 4 TSR
Uterus

‘,Znﬂuma
Placenta
Fellodel T8
' Fallopian tube
xpLﬂﬁhﬁTﬂFﬂ

Cervix

K3

Question ID : 9864493058
Status : Answered
Chosen Option : 2

Q.54 giter &1 37y dtaw ¥ & A ¥, Twh 3y @ # g F a9 d
afy weirr, witasr i @ Fr s Fa G 27 &, & wiaw oy G
-l

Satheesh is two years older than Goutham who is twice as old as Sai. If the total of the
ages of Satheesh, Goutham and Sai is 27, then how old is Goutham?

Ans x 1.13
X211
X312
v 410

Question ID : 9864492553
Status : Answered
Chosen Option : 4

Question ID : 9864493459
Status : Answered
Chosen Option : 1
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6 Uehs & °I¢ FH% TATATIT 1 9TLATT fabhgar gl 7
(AT o g = 10 FeT wfy T TF3)

If a ball is thrown vertically upwards with a velocity of 4O m/s, then what will be the

magnitude of its displacement after & 57
(Take g = 10 m/s?)
Ans v 60 T
60 m
80 HIX
80m
LO HIEX
LOm
20 A
20m

X2

X3

X4

4% HferdlisTeT & Teh U] A gedA gl
The mass of one molecule of oxygen is
Ans -23
X 1 2.3 x 10 ImH
23x10 %3¢
-23
X2 4.3 x 10 IAMH
43x10 %3¢
3.3 x 107 7
3.3x10 %3¢
23
v 5.3 x 10" ImHA
53x10 %3¢

x

Question ID : 9864493628
Status : Answered
Chosen Option : 2

& TS AW F I UG AT HITAT-
XV, TR P, ?

Find the next term in the series

XV, T,R.P.?
Ans X1N

X20

XL

v H

Question ID : 9864495177
Status : Answered
Chosen Option :1

O e A @ A T a7
Which of the following numbers is composite?

Ans X 1. 271
X 2 241
X 5. 261
v ¢ 251

Question ID : 9864493025
Status : Answered
Chosen Option : 3




Q.SQWWWETHRTHT%F,HQWWMQQQQQ“

TT ST & F9 @1 wy afeE 7 F B 70 FAF FOAFEOT AT §?

HYUA:
Fo TrAd Temg g1 w2l toe e #
Tz
1. o femw e §
2. 5o femw = )
Consider the given statement to be true even if they seem to be at variance with the

commonly known facts and decide which of the given conclusions logically follows from
the given statement.

Statement:
Some spoons are glasses. All the plates are glasses
Conclusions

1. Some glasses are plates

2. Some glasses are spoons

Question ID : 9864495173
Status : Answered
Chosen Option :1

Ans ‘, 1.
fersehd (1) 3R (2) @kl JERoT T E
Both(1) and (2) follows
. Fael fASHY (1) HTEOT FT B
Only (1) conclusion follows
X3
o o sy (1) 3R 7 & sy (2) ST A 2
Neither (1) nor (2) follows
 , T frssRy (2) 3EROT FT B
Only (2) conclusion follows
@60 g B2 wE 2 T 3 R W AR 3T 8 & Question ID : 9864492110
Which of these cities located in the state of Gujarat is famous for its diamond industry? SRS el
Ans Chosen Option :1
r 0
Rajkot
HId
" SR
Surat
< 3.
Ahmedabad
X 4 {
Vadodara
Q.61 ger T Fig A6 Fhae 7 FaiEe & Attt F 7 #9 B gar o .
Question ID : 9864492257
T WEET &7
‘Who among these union ministers in the PM Narendra Modi cabinet belongs to the Shiv Status : Answered
Sena party? Chosen Option :1
Ans

x o, TarwE ast
Sadanand Gowda

V2 AT e
Anant Geete

x5 Ao =rlr
Nitin Gadkari




FAT HLGr
Uma Bharti

X4
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Q.62 arofr g2 feem #r 3R 5 frw gu @ ) a7 90° fdromac gl ¥, R 1350
aAEd 3T g 45° EEvnad gadr &1 o sHe He e g i s 2

Vani is facing East direction. She turns 90°clockwise then 135° Anticlockwise and
45°clockwise. then in which direction she is facing now?

Ans

F ! q'\é
East
3(".:'{

North
gfeaH
West

. iy
South

2

K 3.

K4

Question ID : 9864495170
Status : Answered
Chosen Option : 1

Q.63 wo T gfew 31T & T AFFE F AT W 3T Afore-

vafehr gHaT FeT F Uedr g1 T uaiolshr U= Heurer Ui ar ¥ 9 g7
% 1: &, 9 95 3TH TEUS §, Wit 3uE o g
T 2: 8, 9fF 9F 3TEr FEud ¥, vt swe a9 ¥

Read the question and answer from the given information:

Pravalika is studying 10% class, is Pravalika elder than Pranitha who is her classmate?

Argument 1: Yes, as she is her classmate Pranitha is younger to her
Argument 2: No, as she is classmate Pranitha is elder to her.

T A I SHFEIOT T B

Either I or IT follow
< 2
a1 AT & 1 TET AT B

Neither I nor IT follow
hdel | TEIOT AT g
3 2
Only I follow
haol |l FJHIOT HIAT §
Only II follow

Ans

x

K4

Question ID : 9864495164
Status : Answered
Chosen Option : 1

Q.64 =fy e faig P & O % aTer 3R et T PA 3T PB F99 T@TE THEH 110° & HI0T T
T L, A RIUTPOA FT AT AT E?

If tangents PA and PB from a point P to a circle with centre O are inclined to each other
at an angle of 110° then the angle POA is:

Question ID : 9864492538
Status : Answered
Chosen Option : 2

Ans x 1. 70°
W 2 350
X 3500
< 4. 450

Q.65 N Hag (shell) F TATNTST 35T ST Torat ATeY SIFEIAT 3 HEAT
The number of electrons that can be accommodated in the M shell is:

Ans x1_8

Question ID : 9864493134
Status : Answered
Chosen Option :1

<22




< 332
W18
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8 foes 7 & w7 95 F
Pick the odd one out from the following:
Ans "1 NH,OH
V' 2. NaOH
< 3. Cu(OH),
< 4. Zn(OH),

Question ID : 9864493409
Status : Answered
Chosen Option : 1

Q.67 wradr 2018 @& 39erey @SN & HTAN AT T SEAT FeM & 54
‘Who is the Union Minister of the Ministry of Commerce and Industry as of February
2018?

Ans
x 1 IAT ARGT
Uma Bharti

AT FR=T
Sushma Swaraj

v £ 'ﬂi’ﬂl’ ke
Suresh Prabhu

X4 3'T|7'|Ef ey
Anand Geete

K2

Question ID : 9864492298
Status : Answered
Chosen Option : 4

Q.68 farg HArarger AT &oell o 2017 7 R T29 e &7 & IS e
& foro i aut &1 srgeer B g2

‘Which mobile manufacturing company won the rights in 2017 to be the sponsor of the
Indian male Cricket Team for five years?

ans 3oy

X4

Karbonn

Question ID : 9864492329
Status : Not Answered
Chosen Option : --

Q.69 FHTEH FT FHaoT AN FET TET 272
The Kambala festival of Karnataka is essentially associated with what?

Ans x1 ﬁ # ﬂ?ﬂé’
Bull fighting

. nfeardr e
Tribal dance
Buffalo race

x

v

Question ID : 9864492423
Status : Answered
Chosen Option : 2




7t B T
4
Cock fighting

x
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Q.70 10 e Bl o & 8 B & 9w W wea ¥ 4 B F A, & e we

OIE & 1 30F a1g FH N T F & ey o e

10 people could complete a task in § days. After 4 days, 2 of the workers left. How many
days from then did it take to complete the task?

Question ID : 9864492970
Status : Answered
Chosen Option : 2

Ans x1_ 8
X 25
X3 7
v
Q.71 fow 31T FUF H g AMAT, o¥ar & 98 A Iz ¥ & udia gar & 3w

Ans

a9 AT & FT o TRy e §9 F R 0 FAT FOFEr w0 57
H:
Fo I faeel §) el fafeemn g 8
foeeRy:
1. w9y fafoemr #
2. F© 9 T
Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows

from the given statement.

Statement:
Some tigers are cats. All the cafs are rats.

Conclusions:

1. All the rats are cats
2. Some of the tigers are rats

ool fASHY (1) HTEOT FT &
Only (1) conclusion follows

2
s (1) 3R (2) Qe IgaRoT W B

Both (1) and (2) follow
Faer fAHY (2) HTEOT FT B

Only (2) conclusion follows

X4
F O ey (1) 3R F & TSy (2) HFEROT HaT ¢

Neither (1) nor (2) follows

F !

X3

Question ID : 9864495162
Status : Answered
Chosen Option : 3

Q.72

Ans

AT 3ea T #r 3% =@ W &1 4 kms TES F AE 9¢ ¢ {3 kms
e 21 319 97 A AR Ry @ e g ik Rm R A 2

Mamatha is walking towards North. After walking 4 kms, she turns right and then walks
for 3 kms. Now how far and in which direction is she from the starting point.

1BFIT"j:-‘I‘-Sk:ms

5 kms - NE

gf@or 99 - 5 kms
<2

5 kms - S-E

. gf¥=sr® - 7 kms
7 kms - West

Question ID : 9864495183
Status : Answered
Chosen Option :1




WWW.
Fcal 9fegH - 6 kms

X 4
6 ks - N-W
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Q.73 2T 910 Fu" H TcF AMAT, o7o8 & a7 A9 a8 ¥ e wdia g@har & 3k
T7 AT & Fi9 @ e afed 79 § & 70 FF FAGEOT T 82
U
3T FOY & [T ¥
forsd

1. F:Sd # TART {9 &
2. 99 a7

Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows from
the given statement.

Statement:
This bowl has soup.
Conclusion

1. The bowl has tomato soup
2. The soup is too hot.

ns x1.m | Tar gl

Only I 1s correct

x, 3 a1 3R T8I HT E
Neither I nor II is correct

v | AR wer g
Both I and II are correct

mm Il Ter gl

IT only is correct

Question ID : 9864495163
Status : Answered
Chosen Option : 2

T8 T A & T O T A P
J, L, O S 7?77
Find the next two terms in the series
ILL,O.S,2.?

Ans xmxr 7
v2A B
X3 X, D

x<4+Y, B

Question ID : 9864495165
Status : Answered
Chosen Option : 3

A7 o & ¥ Fg & e wfaduerar gidr &7
Which of the following has low resistivity?

Question ID : 9864493185
Status : Answered
Chosen Option : 4

Ans dJellH




